For a given relation to have an inverse

Review for the Topic 2 Test: that IS a function:

e Go over your notes and inclass examples ® The original function must be one-to-one

¢ Go over homework or

e \Work on the review | gave you P ;

e Look at the following Agilemind * Th? Onglnal. function must pass the
More Practice Problems: #'s 1, 4-6, 8-10, 12 Hoizontal Line Test.

® Review Agilemind material online

To restict the domain of a quadratic so that the inverse

IS a function all you really need to know is..... Normally when we find the square roots of a number there

are two answers:
The x-coorinate of the Vertex!

Find the square roots of 9:

Generally, the restriction will be

What are all the numbers that can be squared to equal 9?
x2=9 x =13

X > the x-coord of the vertex




In order to make the inverse of y = x? a function we must restrict

the domain for it to be one-to-one.
When we restrict the domain to the left side ("negative" side) of

When we restrict the domain to the right side ("positive" side) of the parabola the inverse becomes the bottom half of the
the parabola the inverse becomes the top half of the "sideways "sideways parabola".
parabola".
i — 2
Instead of the inverse of y = (x — 1)2 -3 Ingtead ofithe Inverserof ye (=) ==a
being 04 :U Vx+3+ln0rmally two answers when you square root belng g = ‘fx_+_3— i 1 yromelyGeoianegersiuheny e sgarsiot
it becomes y = \‘_,\/_\J«W?’”

itbecomesy =+J/x+3 +1=_Jx+3 +1
N = i
Negative (bottom) half of

Positive (Top) half of the the sideways parabola.
sideways parabola.

The graph of y = x? is the parent Quadratic _ Write the equation of the inverse relation:
Function which is a Parabola whose Vertex is at ” g )
(0,0). .\’
y- 12 =% V91> 9
=a(x+hy?+k @ 5@ )

y
/ ¥ + k moves k units up o~
>0 - k moves k units down
a>0 opens up >< J( L

a<0 opens down
laj>1 Vertical Stretch S5\ L ——m +O]
0<|a|<1 Vertical Shrink x+h moves h units left _{:Iﬁ(j: . l z

X - h moves h units right




Agilemind: Topic 3 - Transforming Functions
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Below is a scatter plot of data collected showing the number of hours worked by

a plumber and the total charge incurred.

Total Charge ($)
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# hrs worked

1. What kind of function models this
data?

Appears to be Linear

2. Explain two different ways how
you know that this type of function
models this data.

e Data forms a line
e Constant Rate of Change
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